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$0 $300,000
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$25,000 $175,000
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5 0& B a7 ik £ 3 = $0
5 0FE Btk Y E =$4,000,000
r 1E B endT B #ik £ 28 = $4,000,000° 0.4 = $1,600,000
% 1# & etk g % & = $4,000,000- $1,600,000 = $2,400,000

% 2% B end7 L% £ % =$2,400,000° 0.4 = $960,000
¥ 2# K etk G & =$2,400,000- $960,000 = $1,440,000
¥ 3 R 37 it £ 7F = $1,440,000° 0.4 = $576,000
% 3& K kg i £ =$1,440,000- $576,000 = $864,000
% 4F B et E#Lk £ 27 = $864,000° 0.4 = $345,600
F 4# R ootk g & =$864,000- $345,600 = $518,400
% b#E R andt E#LE £ 57 R 3%2 =$518,400° 0.4 =3$207,360
e zExL”‘ £ Ep— Frik 2 18 g B e m x%. YA E 0 T R g 5 $18,400
% 5F K& etk g =$518,400- $18,400 = $500,000
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% 0# B o7 itk £ 57 =30

$0F B etk m l% 7 =$300,000

$1& B it B £ %7 = $300,000” 0.2 = $60,000

$1& & ¢0hE 5 % & =$300,000- $60,000 = $240,000
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$ 2 R 37 E#0k 4 77 = $240,000” 0.2 = $48,000

% 2 B ¢ & ) & =$240,000- $48,000 = $192,000
% 34& B gt E#R £ 37 =$192,000° 0.2 = $38,400
%3& R ke 6 i & =$192,000- $38,400 = $153,600
¥ 4% B endt ¥R 4 97 = $153600° 0.2=$30,720
% 4% B entE s ) & =$153,600- $30,720 = $122,880
%5 B ot EH0R & 37 3% =$122,880° 0.2 =$24,576
$ 5 B e G & =$122,880- $24,576 = $98,304
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%08 B et Bk £ 37 = $0

¥ 0 A& etk 5 i @ =$4,000,000

¥ 1& R et E#k £ §F = $3,000,000° 1% = $1,000,000
$1E A& P& & =$4,000,000- $Looo 000 = $3,000,000
¥ 2# B endr R £ 37 = $3,000,000° 1—5 = $800,000

% 2 & ke 5 & =$3,000,000- $800,000 = $2,200,000
% 3# & 37 E#Lik £ 77 = $3,000,000° 1—‘:’3 = $600,000

% 34 B ke i =$2,200,000- $600,000 = $1,600,000
¥ 4& B ndT it £ %7 = $3,000,000° 1—25 = $400,000

¥ 4% B etE G B & =$1,600,000- $400,000 = $1,200,000
% 5& B a7 B £ 38 2% = $3,000,000° 1—15 $200,000

% 5# & otk g 1§ & =$1,200,000- $200,000 = $1,000,000
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5 0 & 7 ik £ 98 = $0
%04 A 90E 6 f§ & = $400,000

$ 18 B it ¥R £ 37 = $360,000° 3% — $80,000

% 1# Rk otk s % & =$400,000- $80,000 = $320,000

¥ 28 R ohdt i #dk £ %7 = $360,000° % =$70,000

F2F B kg I% iz =$320,000- $70,000 = $250,000
§ 3 A& gt LR £ 37 = $360,000° 3—2 — $60,000
¥ 3F B e g e $250,000- $60,000 = $190,000
$ 48 B et SR & 37 = $360,000° 3—56 = $50,000
5 4E R kG J% 7 =$190,000- $50,000 = $140,000

% 5# R o7 B #Lk £ %7 3% = $360,0007 3i6 = $40,000
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% 5& E 0tk g § 2 = $140,000- $40,000 = $100,000







